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Attempt all questions.

wift 737 BT

M/s XYZ Ltd. maintains a database of its product
and salesman in the following form :

Table: SALES-MASTER

(Used to store the sales information)
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Column pame Data Type Size
SALES CODE VARCHAR2 5
REGION VARchar2 20
CITY Varchar2 20
PRODUCT CODE  Varchar2 6
QTY SOLD Number 8
TARGET Number 3

Table Namec: WAREHOUSE-MASTER
(Used to storc availability of the Product)

Column name Data Type Size
PRODUCT Code Var char2 6
QTY On Harid Number 3
Cost Price Number . 8,2
Sales Price Number 8,2

Form SQI. strings for the following queries ;

{a) Retrieve the list of salesman belonging to city
“DELHI™,

(b) Retrieve the list of products sold by sales agent
and available at the warehouse.

(c) Retrieve the list of sales agents, who are given a
target of 50000 from the company. (343+3)
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PRODUCT Code Var char2 6
| QTY On Hand Number 8
| Cost Price Number 8,2
Sales Price " Number 8,2
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2. (a) Write a sub procedure that produces the input
array in ascending order. The procedure should
accept an array of fixed length as input.

(b) Write an appropriate conditional statement block
for the following situation

If Basic salary < 12000
HRA = 20% of Basic
DA = 70% of Basic

If Basic salary > 12000
HRA = NIL
DA = 60% of Basic

(¢) Find out the errors in the following segments
X =10
FOR I =2 to 16 step - 4
X=X+2 (3+3+3)
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X.=10 |
FOR I =2 to 16 step — 4
X=X+2

3.7 Attempt any two of the following :
i

(a)EDiscuss different types of data types in a
,programming language. Support your explanation
(with appropriate examples.

I

{b) What do you mean by object oriented
programming ? How is it different with object base
programming language ?

(c) Differentiate between Resume and Resume Next
in an error handler in call list. {5+5)
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4.  Aftempt any two of the following :

(a) What are ADO record set objects in Database
Programming ? Give suitable examples. .

(b) Discuss various classes used in object oriented
programming.

(c) Discuss different control structures used in writing

programs. (5+3)
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